
1. Petrol density = 800 kg/m3. Water density = 1000 kg/m3. Q a) Which has more mass 1 m3 of petrol 
or 1 m3 of petrol? b) Which has more volume 1 kg of petrol or 1 kg of water? Q) 2) how to calculate 
volume with density and mass? 
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Qa) Which one? 
Qb) Which one? 

Q2) ?V  

Solution. 

As it is known, mass m ,volume V  and density   are related by the formula: 

Vm  . 

Qa) Mass of 1 m3 of petrol is Vm 11  . And mass of 1 m3 of water is Vm 22   

(here, 31mV  ). 

As 21   , than 21 mm  . So, mass of 1 m3 of water is more than 1 m3 of 

petrol. 

Qb) Volume of 1 kg of petrol is 
1

1 
m

V  . And volume of 1 kg of water is  

2
2 

m
V   (here, kgm 1 ). 

As 21   , than 21 VV  . So, 1 kg of petrol has more volume than 1 kg of water. 

Q2) Volume can be found as   

m

V  . 

Answer: Qa) water;   Qb) petrol;   Q2) 

m

V  . 


